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MAT 102 - Exam? - Fall 2014

) Instructor; Dt. Francesco Strazzullo Name l/(bpy

Instructions. Technology is allowed on this exam. Each problem is worth 10 points. When using technology
describe which commands (or keys typed) you used AND sketch any graph used. You might need some of

the following formulas:
~b+VhZ—dac

C s v (x=h)P+(y—k)? =R
o (A+B)?=A*+2AB +B* v A2—B2=(A-B)(A+B)
o R(E) =—1gt?* + vt + ho, with g =325 ~ 981

. y=ax2+bx+cory=a(x—h)2+k,withh=_2b_a
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Consider the following equation of a line.
—2x + 3y = 4x+3
a. Rewrite this equation in slope-intercept form. Reduce all fractions to lowest terms.
b. Find the equation, in slope-intercept form, for the line which is perpendicular to this line and passes
through the point (1,2). Reduce all fractions to lowest terms.
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2. Write the slope-intercept form of the equation for the line that passes through the point (-2, 3) and has
slope —4.
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3. Solve the system of two linear inequalities graphically.
2x—y <3x + 2ory > =3x + 1

Step 1. First linear inequality.
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Step 2. Second linear inequality.
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Step 3. Graph both inequalities, identify the coordinates of the corner point, and highlight the solution set
of this system of linear inequalities. Also, mark your selection A or B,
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B) the intersection of the individual solution sets
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4, Graph the solution set of the following linear inequality: X2 >/ < / L WE&‘- L
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5. Find the standard form of the equation for the circle with center (—2, 3) and radius 5.
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6. The cost in dollars for producing x pairs of shoes is modeled by the quadratic function
€ (x)= 0.05x% — 15x + 2200.
Find the production level that minimizes the cost.
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7. Graph the following function. B
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